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1. 2308k
[1]Online Verilog Simulator: edaplayground #(£2:
https://www.youtube.com/watch?v=f9uwtAax4v0&t=249s

[2]4: P9 PR EE Sk E EMEE T2 http://ccckmit.wikidot.com/ve:main

[BIFkIEAE > verilog 5 F 5521455 6 & > LFEES

2. EAERI3):

2.1 if gk

if(<IEMF 2T 1)
begin
<BORTTH 1>
end
else if(<fEfFFT I 2>)
begin
<RURTTH 2>;
end
else if(<E{F-Fm 5 n>)
begin
<RGRTTH n>;
end
clse
begin
<BGRTTH n+1>

end



https://www.youtube.com/watch?v=f9uwtAax4v0&t=249s
http://ccckmit.wikidot.com/ve:main
http://ccckmit.wikidot.com/ve:main

if(<fE T 15)

begin
if(<fEfF Tl 2>)
begin
<RI 1>
end
else
begin
<PURESE 2>
end
end
else
begin
ifi<BEfF R 3>)
begin
<RGAEE R 3>
end
else
begin
<RI 3>
end

end




2.2 case FUL

case(RILZT )
RE 1:
begin
<RGAR 1>
end
AP 2:
begin
<A 2>
end
default : begin
<RGAMER n>;
end

endcase

2.2.1 casez Hi
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2.2.2 casex AL

casex RUAILEL casez Bl case Z BEVALERE 2 MUTIEIESE & —1F - ME—R[EIRVHE 5 1E
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B 1:
[ w3 =X

encodes_3_casex ULy} Code Your destign here
mdule encoded_3_casex(y, V)]
initial Seonitor($tiem, ", y=%h,k 150", y.1); output [2:0] y;
gt 20 -1,
Initiai | K ' HOOD0ONO0;

initial hegin
#10 1=8"blz111111; A lways
#10 $-R8°011711110;

#10 3-8 0b1x111100; Iy -
#10 187011111000, 'y
#10 1=87Dl1111C 0; Yy

#10 T "H11100000; y =

#10 1:-8"011000000; Yy -
#10 1.8 010000000; 8'b7TI00000: y
end 8'b71000000: vy
3'b Woi: y

fnitial #90 Stinish; endcase

sndoacki | e
endeodul e

@log <Sham

0, ywxxx, 1=00000000
10, y=000, i=17111111
20, y=001, 1=11211110
30, y=010, i=1x111100
40, y=011, 1=11111000
50, y=1900, 1=11110000
60, y=101, i=11100000
0, y=110, i=11000000
80, y<ll11, 1<10000000

® design.sv &3

module encode8_ 3 casex(y,i);
output [2:0] y;
input [7:0] i;

reg[2:0] y;

always@(i)
casex (i)

8'b???71000: y = 3'b011;

8'b???10000: y = 3'b100;

8'b??100000: y = 3'b101;

8'b?1000000: y = 3'b110;

8'b10000000: y = 3'b111;
endcase

endmodule



®  testbench.sv f£=:
module testbench();

reg [7:0] i; //input

wire [2:0] y; //output

encode8_3 casex Ul(y,i);

initial Smonitor(Stime, ", y=%b, i=%b", vy,i);

initial i = 8'b00000000;

initial begin
#10i=8'b1z111111;
#10i=8'p11?11110;
#10i=8'b1x111100;
#10i=8'p11111000;
#10i=8'p11110000;
#10i=8'b11100000;
#10 i=8'b11000000;
#10 i=8'b10000000;

end

initial #90 Sfinish;

endmodule

® FITHRER:

[2024-04-07 10:39:11 uTC] diverilog '-wall' design.sv testbench.sv &&

unbuffer vvp a.out
0, y=0000, se1=000, a=0000, b=1010, c=1111
10, y=0000, sel=001, a=0000, b=1010, c=1111
20, y=1010, sel=010, a=0000, b=1010, c=1111
30, y=0000, sel=011, a=0000, b=1010, c=1111
40, y=1111, sel=100, a=0000, b=1010, c=1111
50, y=0000, sel=101, a=0000, b=1010, c=1111
60, y=1010, sel=110, a=0000, b=1010, c=1111
70, y=0000, sel=111, a=0000, b=1010, c=1111
80, y=0000, sel=000, a=0000, b=1010, c=1111



Done

3. fE¥ 7-1: 3¥f1BAESTHE

—— > a[3:0] sel[2] sel[1] sell0] ¥y
—{bi3:0] yB:0 —> * x 1 e
X 1 0 b
——> c[3:0] 1 o9 ¢
sel[2:0] ! 0 0 |4hams
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® design.sv &

module mul3_1_casez(y,sel,a,b,c);
output [3:0] y;
input [2:0] sel;
input [3:0] a,b,c;

reg [3:0] y;

always@(sel ora or b or c)

begin
casez (sel)
3'b100: y=c;
3'bz10: y=b;
3'bzzz: y=a;
default: y=4'bzzzz;
endcase
end
endmodule

(1) 7545 testbench 23\ - W TEAAE - FHERASEIES RS -



